BH BORER

5 BARSH

1 CAEZNCIWAR
HTWX 1. 5m 5% EE 77 =600m,
NTWX 1. 5m %R g 77 =1000m;
BTWX 1. 5m %5 EE 77 =1300m;

2 BEHMRIINUATREE R R KB, BT <4 A, BB ThEE =33kw;
e K58 =3000rpm;

3 EhRMA. 45-90° ,  BHAEOTHRAE S HAME A R By R KA S (R4
0-90° i THESI)

4 WMRERS: HEE I =21MPa, B K& =260L/min;

5  TRIKRFN 13k AKHIAE:  =1000N-M, & # =1300rpm 3 /73455
TFE=>1. 83m;

6  PMELIET; S1=120kN, %533 1 =60kN;

7 REFEER KT E=100L/Min, &&= "7Mpa;

8  hHLMERE<1.68M, fFHEMHE<I80ky/E;

9 D EAS :HTW  =71mm, NTW =56mm, BTW =42mm;

10 EHFLEASHTW =96mm, NTW =76mm, BTW =60mm;

11 GBI EE =150m/min, $#2FF 3 =7.5KN, N4 H4E: 6mm,
7548 B =>1300m

12 PLE KT & <<btmXbmX5. 3m;

13 BEHHE<13 .




